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o YA FE H A foh 38 Y97 § Gigd I8 10 + 1 THH 3 |

o TH-UA H Fied FTU HI AR T T Shig TR Hl B IT-IEehl o JE@-I8 |
g |

o FHUA I A foh 30 A | 26 ¥ 3 |
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T 10.15 S foham @M | 10.15 S 8 10.30 S5 b ST had IH-UF I Tl
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e Please check that this question paper contains 10 printed pages + 1 Map.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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SOCIAL SCIENCE

FEiRa a7 : 3 72 S7feHTH 37 : 80

Time allowed : 3 hours Maximum Marks : 80
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(vii)

(viii)

34 Y97-97 %1 TR GUS] H [G97f5id 137 77 & | @V %, @IS &, TUS T 3K
U8 7 |

3G Y97-97 H $e726 T 8 |

&%t o7 srfAard & |

TP o7 @ b 3G G T T F |

Yo7 &1 @7 % 3ld TG-ITIT Fe7 8 | F% FoH 1 36 BT 8 |

Y97 G&IT 8 & 18 % Yl Y97 3 3% #1 & | 594 & Y9 Fo7 H FH

80 og] @ 37feres @7 781 &7 FfT |

J97 G&IT 19 T 25 T Y% YA 5 b F.& 1 598 & J9b Y97 HT FH
100 3753 @ 37fere6 1787 5171 =T |

X7 GE&IT 26 HAITA J97 5 -37% BT & | FHF G 97T E - 26 (A) K 26 (B) |
26 (A) 2 37% 7 FIAEIT @ T 26 (B) 3..37% HI.NT & & | FHlGT HT F97
7o §4 T 3G 3791 FR-GIaBIL. & X 4] BT |

General Instructions :

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

The question paper has 26 questions in all.
All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark.

Questions from serial number 8 to 18 are 38 marks questions.
Answers to these questions should not exceed 80 words each.

Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

Question number 26 is a map question of 5§ marks with two parts 26 (A)
and 26 (B) — 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.
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SECTION A

1. ‘S &1 31 Tose hifsru | 1
STt

TR o d dep gra won o Sfu=ies |idi o e fl SAravEehdT s I
e HifT | 1
Explain the meaning of ‘Currency’.

OR

Explain the reason for necessity of supervision by the Reserve Bank of
India of formal sources of loans.

2. IS hl HHA IMH h A0 G A ITIE FaI hiA-41 7 ? 1
AT
T FH T Fa R B W el S e 2 1
Which type of soil is most suitable for growing the crop of cashew nut ?

OR

Which type of soil in Indiais most widespread and important ?

3.  WRA H IAEEl Fdl % SH $© AT IT=AET I I ST hl G5 H TR
i W@d o ? 1
AT
et Tt o S 3 T YW i §g A A 9in w4 w2 1
Why had some parents kept novels away from their children’s reach during
19th century in India ?

OR

Why had Englishmen demanded a clamp down on the ‘Vernacular Press’ in
the 19th century ?
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39 ¢9 o AW fafgn, SEf d@foum § 9R R @snee s e St 31
Trehldeh fofoaerdrati st gt fomam |

Name the country where the Constitution was amended four times to
accommodate the regional differences and cultural diversities.

-

5. 1848 H high A 7 394 oAl § w@oAcefl segfa @& hl ? T SR T
ST |

HAAT

forIaT # Zifeh ShT Thet oRIT @I 7T ? Toh ShRUT TR HIT, |

Why did Frédéric Sorrieu present utopian vision in his prints in 1848 ?
Explain one reason.

OR

Why was the Tonkin Free Schoel started in. Vietnam ? Explain one
reason.

6.  JvdieRtur ¥ el UiEEH o INTeH o fovaser Shifsa |

Analyse the contribution of fast transport in globalisation.

7.  foorclt o U 9T TG ST whIH-HT W6 9% (TM) 3Afehd BIdT 3 ?

Which logo of quality is marked on the electrical instruments ?

Qs @
SECTION B

8. ‘933 UiAIAN 3R S dfg 3 AT WIS SAQIHI o HRU S Y
21”7 U8 TeIaHl § graf-d gUehil sl ISR shifoy |
AT
“Orafies aNT-STd TURY YUl STl TR0 3R A WUSRYT & fow 3wt B |7
Y YUMTAT <hl Hgdl bl @ 32N dfgd ITTR hifY |

“Multi-purpose projects and large dams have been the cause of many new
social movements.” Highlight the concerns related to such movements.

OR

“Traditional harvesting system is a useful system to conserve and store
water.” Highlight the importance of this system with two examples.
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11.

12.

13.

14.

JUATRIAT o fAT GEAT 9 o ATYRR (JMR.E.3T1E. )’ & T Hl qUH T | 3
HAYAT

I9AAISTT o foru “erfagfd famer s @1fepr’ & #ewa &1 aui i | 3

Describe the importance of the ‘Right to Information (RTI)’ for consumers.

OR

Describe the importance of the ‘Right to Seek Redressal’ for consumers.

Jeeftertur < foheal <fiF AT ST e hIfT | 1x3=3
HAAAT
FEUSEA HEAAT o Tohea] A TTHI o1 HeARA HIT | 1x3=3
Assess any three advantages of globalisation.
OR

Assess any three advantages of multinational corporations.

TRIYeh Sfereht iV SR ATISHS N H i3 T4 <L IR HINT | 3

Highlight any three differences between primitive subsistence farming and

commercial farming.

“aa o ga & fofe SwEft 8, 9 98 SrEmEdareti @ feur wehdt 7 17
YT hi Afgd HeH i gfse i | 3

“Average income is useful for comparison but it may hide disparities.”
Support the statement with suitable arguments.

“qra | 3+t oft Sirfarra steEEan fommm g 17 e i @ Hifvu | 3

“Caste inequalities are still prevalent in India.” Examine the statement.

Senl 3R Tghrt |fufaal i 3 o7 <4 hi nfdfafe=y st amer &= § sgH
o Tergl i sron <A1 sameat HIfSg | 1x3=3

Explain any three reasons for the banks and cooperative societies to
increase their lending facilities in rural areas.
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17.

18.

T wamedl W GF JUETRET o S UsgaTd! WTEHTett i o s

FHTHIETE <t ftieht w1 Ui HIfT | 3
U7

BT g1 3MTGIa o1, fo=raeTg shl TUscardl JEIg o €9 § quiF i | 3

Describe the role of Romanticism in developing nationalist feelings among
Europeans during nineteenth century.

OR
Describe Hoa Hao movement as a mainstream nationalism of Vietnam.
“ar ® It T % o7 § Sf-HE % R H dg-ate I giga gieaersti 3R
e & for@m I & o |7 38 %A 6l gfed 3 ITRh 3TEN HAfgd hifg |
YT

“Ceg o fafte STl o UE. SHETd qodi Wt YT "W s femd
& 1”7 58 oM ol gftd € IwIth IaTell Higd <hIisIu | 3

“Issues of caste disecrimination began to be written about in many printed
tracts and essays in India in the late nineteenth century.” Support the
statement with two suitable examples.

OR

“Premchand’s characters in different novels create a community based on
democratic values.” Support the statement with two suitable examples.

Areha H T Tt epmil (T9-3med) 6 kel TR Hsti 1 qoarend
HIfTT | 3

arera
A | 91 1 ATHER TG T e i | 3

Evaluate the strengths and limitations of local self-government in a
democracy.

L

OR
Evaluate the power sharing system in India.

“reprardl o1 99 &1, Alehdd hl THAIT Sl TaTal <dl B |7 3STEN 9igd hed
<l gfee Shifv | 3

“Complaints are treated as testimony to the success of democracy.”
Support the statement with examples.
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19.

20.

21.

Qs 1
SECTION C

TgTeAT Tielt A GfeT 1T STeia F YR oA 2 38 e 3 < ol fohm

TehR JST ? SFREAT HiTT | 5
HAYAT

HETeHT e 7 STEgEAn e Fi IE fRAT 2 39 TEieH 1 < Wi fhE TR

SeT 2 ST hifu | 5

Why did Mahatma Gandhi start the ‘Civil Disobedience Movement’ ? How

did this movement unite the country ? Explain.

OR

Why did Mahatma Gandhi launch the ‘Non-Cooperation Movement’ ? How

did this movement unite the country ? Explain.

BITATTR o & T 3T $G% IR X AT L ST UM o Hobfrgd &
HROM =l Tse HIRTT | 5

Explain the reasons for concentration of iron and steel industries in and

around Chotanagpur region.

TAlehds T TSI el shi YfHehT hl TS HIT | 5
HYAT
Alehdd B TSHIdeh aell shl SATaeIehdT shl AT Il | 5

Explain the role of Political Parties in a democracy.

OR

Explain the necessity of Political Parties in a democracy.
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22.

23.

24.

25.

UTEET & |89 o &9 H o1 o H&wd hl T HiT |

Explain the importance of Railways as a means of transport.

IR § gufRuerar o fohedl 9ia Ao 1 quia I |

Describe any five features of secularism in India.

STl Tt % S YRa & aYa et Afient 1 fedfa o avi il
qan
T o SRR ITTHL T e b farehra # yfirent 1 9o hifsT |

HAAT

Ix5=5

5

et Tt < 3Td § o el T b gy § gres (Yres) H ffi fomere

gfskaT T Ui hHIfST |

Describe the condition of indentured labour that migrated from India

during the nineteenth century.

OR

Describe the role of early entrepreneurs of India in the development of

industries.

OR

Describe the ‘land reclamation’ process in Bombay during the late

nineteenth and the early twentieth centuries.

A 1 &5 o Hawd o fohral Uid SHRUN i IAFR I |

Highlight any five reasons for the importance of tertiary sector in India.
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26. (A
(B)
(A)
(B)

320412

T AT ‘@’ I

IR Ik TE AW 3ok Trfig Wil 78 et w fafge -
(a) 9% TN TET YR TS HiE H1 AREIE g |

wus ¥
SECTION D

b’ o U wRE & TeHiTae W@-aEEE (98 11 |), |
Jferd U U B | 39 Ao w1 Aefafgd Seerl < w8 8 ug=nHe

1x2=2

(b) 98 AN Saf miefsh 9 fiad Al @dl v a1l fha il o 981 O 9camig

rfoa o |
3t feu U wRa & oo teaEte § Fefated @ 9 et i
%! 39YH el & R R 3h 917 faRan 1x3=3
(i) dEge —  3T(ugeh el 93
(i) g s, wig
(iii) HEefl = EFIIL SHTAST ITeh
(iv) el — (U@ HHgr 90
(v) R = AR T w9

Two features ‘a’ and ‘b’ are marked on the given political outline
map of India (on page 11). Identify these features with the help of
the following information and write their correct names on the
lines marked near them :

(a) The place where the Indian National Congress Session was

held.

(b) The place from where Gandhiji organized Satyagraha in favour
of Indigo planters.

Locate and label any three of the following with appropriate symbols
on the same given political outline map of India :

(i) Tarapur

— Nuclear Power Plant

(ii)) Tungabhadra — Dam

(ii1) Mohali
(iv) Kandla
(v) Durgapur

—  Software Technology Park
— Major Sea Port
— Iron and Steel Plant
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Fig:  FHECTRET 397 #acl giRaTaa qagntden & o/ 397 61 26 & €& T/
& | fasegt uier ol & I forfa

Note: The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 26. Attempt any five questions :
(26.1) ITHEINT ITTIAH bl I9E @4 T Ha(&d T 1 99 fRay |

(26.2) VR TS HIE I TS Hal 3T AT ?

(26.3) Sifcraterern a1 He fohw Usa H wfed g8 ?

(26.4) TG AT(0h Hott w97 fohg Tsa # oo 8 2

(26.5) 38 TS &1 AW feifigu, et Aigrefl Firea—R IaTatst qreh e 3 |

(26.6) I8 TS 1 AW [ARGY, &N YL AATET 3TN 89Tq T 6o 2 |

(26.7) HISAT TG I WRA = fohd 7 W @ 22 1x5=5

(26.1) Name the place related to the calling off of the Non-Cooperation
Movement.

(26.2) Where was the Indian National Congress formed.?
(26.3) In which State did Jallianwala Bagh incident happen ?
(26.4) In which State is Tarapur Nuclear Power Plant situated ?

(26.5) Name the State where Mohali Software Technology Park is
situated.

(26.6) Name the State where Durgapur Iron and Steel Plant is located.
(26.7) On which coast of India is Kandla Sea Port located ?
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I3 9. 26 & foiw For question no. 26
WA T [@T-AH (Tifeaen)
Outline Map of India (Political)
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